Equations with Missing Operators

Name: Score:

Use the BODMAS rules and fill in the missing operators.

2 ()10 + 20 = 100 £()4 =8 =124

6 ()60 ~ 10 = 59 10 ()5 + 25 = 275
3 x3()9= -9 3+3()3 =1

37 - (:300) ()10 = 57 48()2'+ 8 = 11
2()3" x 10 = -88 2'()2+8=-2
44 x 88 =32 ()8 +2 =64
25( )5 + 18 = 23 2()20° = 80 = 10
8 ()64 = 8 = 56 5°()(-28) + 2 = 139
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Answers

Use the BODMAS rules and fill in the missing operators.

2 (X) 10" + 20 = 100

6 ()60 ~ 10 = 30

33 x 3(9)9= -9

37 - (-300)(5) 10 = 57

2()3" x 10 = -88

494 x 8 =132

25(2)5 + 18 = 23

8 (=) 64 + 8 = 56
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(1) 4+ 8 =24

10 (X) 5 + 25 = 275

333 =1

48()2' + 8 = 11

2(X)2+8=-2

(1) 8+ 2 = 64

2(X)20° = 80 = 10

5() (28) + 2 = 139
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